
M-Sc. (Semester-II) (CBCS Scheme) Examination
STATISTICS

(Testing and HYpothesis)

Paper-!1
Time : fhrcc Hours] lMaxtnum Marks : 80

Note :- Ans\\er either (A) or (B) from cach qucstion.

1. (A) G) Dcfine the rerms i

(a) Null bTnthesis

(b) AlternatehFotlesis

(c) Critical region.

(ii) Write the statement of NP lemma and provc its sufficiency part. 6+ I 0

OR

@) O LctxPxx,....xIareiidr.v.*ithN(e, 100) for testing hypothesis H0 : 0 - 75 againsr
Hr : 0 = 80. 'lhe following test procedure is used :

{(x,,x,,...x,,1=
l, if i>75
0, if x<75

G)

2. (A) 0)

(ii)

(n) (,

(ii)

Iind size of lcst and pou'er of tcst.

Describe MP test and UMP tcst. 8-8

Deline monotone likelihood ratio (MI-R) property \\,ilh example.

State and prove Kt[lin Rubin theorem. 6+10

OR

Prove that IIMP lcst does no( exis(s for testing fic hypothesis ll0 : 0, { 0 ( 0, against

H, : 0 < e, or 0 > 0r, evcn in case ofone parameter exponential family possess MLR
properq...

For the r.s. ofsize n fron! N(p, or). coEtruct LMP(I lcvel test for testirg the hlpothcsis
Il0: p<p0againstH, : p>powherc or isknown. 8r8

Construct LR test for testinS Ho : p: [r0 against Hl : ].r + Fo, whcn r.s. has been dra',rl
fiom normal population N(p, ot), rvhere g and o2 are unkrorm. Iind the critical region.

Describe Bafllett's test. 8+8

OR

Shou'that for given cr, 0 < cr < l, if a non randomiscd NP test and LR lest for testing
simpJe hypothcsis against simple altenate hypothesis cKist, then they arc cquivalent.

Describe Peatson's 7'1test for goodncss offit. 8r8

3. (A) O

(ii)

(B) ('

\1?Z 3.151

G)

(Conrd )

AV-1975

I

http://www.sgbauonline.com/

http://www.sgbauonline.com/

http://www.sgbauonline.com/
http://www.sgbauonline.com/


4 (A) (D

(iD

(3) (j)

(ii)

(A) (i)

(ii)

(its) (i)

(ii)

Establish the relrtionshrp hct\r'ee the parlrmeters of SPRT.

Dctide SPRT for testing H0:e - 00 against II, : 0 " 0, (0r > 00) $here 0 is the

paramcter ofPoisson distribution. Also Iind OC curr'e. 8+8

OR

Prove that SPRT lerminatcs with probabilit) 1.

Dcscribe sequential prohacililv ratio lest. 8+8

Dcflne :

(a) tlnbiased tcst

(h) ConrpleteDoss

(c) Boundcdcompleteness.

State and prove nccessan' tod sulficient condition lor cvery similar test to have Nelman

stnrctue. 6+10

OR

Show that evcry U\IP lest is unbiased tcst.

Tf X - b (n, p), corstruct llN4PU tesl oI size o for tcsting ITo : p - p) against

H, :p+po. 8+8
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